October 18, 2019

Salim wants to purchase tickets from a vendor to

watch a tennis match. The ven ar
one-time service fee for process{ng the purchase of

the tickets. The equation 7' =1 :PY‘\CQ DF

the total amount T, in dollars, Salim w —\-\ | ‘

n tickets. What does 12 represent in the e
CEEEEE——
A) The price of one ticket, in dollars

amount of the service fee, in dollars

C) The total amount, in dollars, Salim will pay for

one ticket
D) The total amount, in dollars, Salim will pay for e ‘L-
any number of tickets

contains 60% filler materials by weight an
Fertilizer b contains 40% fil|erresterimisbywegie—p | L‘.
Together, the fertilizers bought by the gardener

contain a total of 240 pounds of filler materials.

Which equation models this relationship, wher

the number of pounds of Fertilizer A and v is the

number of pounds of Fertilizer B?

f%) JoXt- =20

—

C) 40x+60y=
D) 60x + 40y = 240




What is the su 10
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4xt-9= (px+D)(px—1)

In the equation above, p and t are constants
Which of the following could be the value

It (2xB)(2(-3)

C) 4
P=1

D) 9
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Which of the following is the graph of the equation y = 2 — '\v\'i"
xy-plane? — ¢ \‘l
A
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bricklayer uses the formula n = 7 £ h to estimate
umber of bricks, 1, needed to build a wall that

tlong and h feet high. Which of the :

rrectly expresses £ in terms of :

and Y = 18, what is the value of 2x -3 ? I
2 I
K- é !
Z (\'L X 7> The table aboy
functions w o
w(x) +t(x) =
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7
/

is £ feetlongand h feet high. Which of the
following correctly expresses ¢ in terms of
ﬂ

nand h ?
7
A) I-E
B) [:_f—'
/n
n
D) " 7+h

A bricklayer uses the formu estimate
the number of bricks, n, needN uild a wall that

=
1h
)

Ny

\s

X w(x) t(x)
1 = -1 -3 5,
2 3 4 -1
3 4 1
3 3

_G)-p -1 5

The table above shows some values of the
functions w and t. For which value of x is
w(x)+t(x)=x7?

A1
®:
C) 3
D) 4

=6 W)=~

G
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If J% + 9 = J64, what is the value of x ?

A) v"g

R +3=8
X =5
4




